
Assembly Instructions  
for  

the Dingo 

Construct A Truck USA 
Designed and manufactured in the USA 

www.constructatruckusa.com 
Copyright © 2015   all rights reserved 

All designs, images, text, and processes are protected. 

Layout parts and begin by gluing various sub-assemblies as shown in the following pics. 

. . . Doors and hinges . . . 

. . . Engine hood, seat bottoms, and seat backs . . . 

. . . Set aside to dry . . . 

Glue steering column, and body side hinges. . . Stack wheels and screw together with #6 x 3/4” screws 

. . . Glue tire profile on after installing 8 screws per wheel.  



Assemble frame rails and rear cross piece. . . Insert center floor pan, axles, and two spac-
ers on each side of rear axle. . . 

Assemble rear floor pan, front engine compartment floor, front dashboard, and front grille. 

Sub-assemble seat backs and bottoms by sliding 3-3/8” steel pin through pivot holes.  In-
sert end of steel pin into pivot hole in each body side.  Assemble windshield frame, roof 
pieces, internal roll-bar frame, and rear tailgate into appropriate slots in body side panels. 



Insert rear body side interior trim panels. . . Attach engine cover by sliding 3-3/8” steel pin 
through pivot holes, as shown. . . 

Slide flat washers onto rear axle and install wheels with nylon lock nuts.  Slide winch pieces 
onto 1-3/4” steel pin.  Apply glue to winch brackets and work winch pin into frame rails and 
through clearance holes in winch brackets—when steel pin is fully seated, press winch 
brackets into place.  Install front wheels with flat washers and nylon lock nuts. 



Assemble body side trim and fenders using #6 x 3/4” screws.  Install steering wheel into 
steering column with #6 x 1/2” screw.  Glue and install steering column into front dash. 

Glue and install front engine compartment wall directly behind grille.  Glue rear nameplate 
and base plate, and attach with two #6 x 1/2” screws.  Install front headlight bar 

Congratulations!  You’re ready to roll! 


